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Quiz 5

Version A

Math 101, Section 32
Fall 2015, Term 151

Instruetions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 + 23,
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?

Student ID: 2 0“'{67'330
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2, (3 pts) The radius of a circle is measured to be 3 m with

a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find

% (coth™ (sin2?)).

Simplify your answer.
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T

Fall 2015, Term 151

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = VI -+ 23. | 2. (3pts) The radius of a circle is measured to be 3 m with
As it reaches the point (2,3), the y-coordinate is in- a possible error of 0.03 m. By using differentials, what
creasing at a rate of 4 cm/s. At this instant, what is is the relative error in the area? :
the rate at which the x-coordinate is changing?

3. (3pts) Find -

ZiCi:e: (coth™(sinz?)) .

Simplify your answer,
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = 1 + x5,
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. {(3pts) Find

d —lyga 2
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 + 23,
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find
d g 2
. (coth™ (sinz?)) .

Simplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 + 3.
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3, (3pts) Find

dz

Simplify your answer.

d (coth *(sinz?)).
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Quiz b

Math 101, Section 32
Version A

_ Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = V1 + 25,

As it reaches the point (2,3), the y-coordinate is in-

@ creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3 pts) Find
4 (ot (cina?
o (coth™*(sinz?)).

Simplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 + 23
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0 03 m. By using dlfferentlals, what

Serial Number:

3. (3 pts) Find

% (coth™'(sin 2%)) .

Simplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 4 23
As it reaches the point (2,3), the y-coordinate is in-
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2. (3pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

creasing at a rate of 4 cm/s. At this instant, what is "
the rate at which the x-coordinate is changing? (N3
. 3. (3pts) Find
31 d
{ T ) o {coth™ (sinz?)) .
Simplify your answer.
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Math 101, Section 32 Quiz. 5
Fall 2015, Term 151 Version A

-Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = v/1423. | 2. (3 pts) The radius of a circle is measured to be 3 m with
As it reaches the point (2,3), the y-coordinate is in- a possible error of 0.03 m. By using differentials, what
creasing at a rate of 4 cm/s. At this instant, what is is the relative error in the area?
the rate at which the x-cocrdinate is changing?

- \
3. (3 pts) Find i
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. Simplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. {(4pts) A particle moves along the curve y = /1 + 3.
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 em/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area? i

3. (3pts) Find

% (coth™ (sinz?)) .

Simplify your answer.
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Math 101, Section 32 Quir{ 5
Fall 2015, Term 151 Version A

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = v/1 + 25.
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find

d g 2

e {coth™*(sin z*)) .
Simplify your answer. V]\
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Quiz 5
Version A

Math 101, Section 32
Fall 2015, Term 151

Instructions: Show Your Work!
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1. (4pts) A particle moves along the curve'y = v/1+ 23} | 2. (3pts) The radius of a circle is measured to be 3 m with
As it reaches the point( (2, 3) the y-coordinate Is in- A\(ﬁ possible error of 0.03 m. By using diffeténtials, what
A creasing at a rate of] At this instant, what is is the relative error in the area?
J& e ratese hich theCo di"r'l‘ate is changing? ﬁ T V’Q‘“
Av 3. (3pts) Find
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o {coth™ (sinz%)) .
Simplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 + z3.
As it reaches the point (2,3}, the y-coordinate is in-
_creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-cootrdinate is changing?

j\; W e /s

Student ID: 221437916 o

Student Name: Al N e
Yepbyag

“\

N,
2. (3 pts) The radius of a circle is measured to be(@jm with
a possible error o {m% By using differentials, what

is the relative error Il the area?
e
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3. (3pts) Find

d _ dv_ . a3l
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Simplify your answer.
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Quiz 5 Student Name: O Maowr £ lshaka

Math 101, Section 32
Fall 2015, Term 151 Version A Serial Number: R
H — I

Instructions: Show Your Work!

2. (3pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

1. (4pts) A particle moves along the curve y = 1 + a3,
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 em/s. At this instant, what is
the rate at which the x-coordinate is changing?

3. (3pts) Find

% (coth™ (sin2?)) .

Simplify your answer.
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Math 101, Section 32
Version A Serial Number: o7

Fall 2015, Term 151

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve ¥ = v/1+23. | 2. (3pts) The radius of a circle is measured to be 3 m with

- As it reaches the point (2,3), the y-coordinate is in- a possible error of 0.03 m. By using differentials, what
j— creasing at a rate of 4 cm/s. At this instant, what is is the relative error in the area?
the rate at which the x-coordinate is changing? _

3. (3pts) Find

' ya
-—@ - / P 3 }L © O{ ¥ 4 {coth !(sinx?)) .

o s
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves alopg the curve y = 1+ 23
As it reaches the point (2,3), the y-coordinate is in-
creasing at_a rate of 4 ¢m/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find

% (coth™!(sin z%)).

Simplify your answer.

CA Aot

" dA SIA r‘glr-

| velative eMeyr 5 JA

A
‘ﬁ, Qﬁ(c}r
Ar¥

2 (09
| (3)

- _
d -1
j’; codt ], (il'mxl) )

At

ZC‘IV

b

oot X 2 X 2 FeBX i3 )
1 — le'-‘fl-«v)(\?') 1 6,.4_ J()
. 2X cwgxT 2 X
(con)™ CoRX






Math 101, Section 32 Quiz. 5
" Fall 2015, Term 151 Version A

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = 1 +23. [ 2,
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?

3.

Student ID: 2.2/ ('T'(B é 7#2_0
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(3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

(3pts) Find
d 1 gy
= {coth ™ (sinz*)) .

Simplify your answer.
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Quiz 5

Math 161, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = V1 +23. | 2.

As it reaches the point (2,3), the y- -coordinate is in-
creasing at a rate of 4 cm/s At this instant, what is

the rate at which the x-coordinate is changing?

@f@;ba/ﬂs g:m
A |

[,Cawt—c:

L ‘ o ifif ‘;;L-() (/(/[/1'
o >
| @ / s
/ﬂ. ................. i mm‘“ ’ﬂ‘-""‘ﬂ‘ e T T T R . S,
f”
{ Y J Sing = €O X 2
S // ﬂ& {

9/0/@.%\“’ (“’Dunp( ) =

Cf$c’ ($ mﬂr)
ot

-
AN oS %
T . vl
[ -5 O C5u/\,>< )

=

Student ID: 20 u—fll'é 20 O. h

Student Nam f{ SSan .
“ Aqobo(rmbm\ it

Serial Number: } 4

Y
(3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find

% (coth™ (sin 3:2)) .

Simplify your answer,
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Math 101, Section 32 Quiz 5
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Serial Number; 21

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve ¥ = V1423 | 2. (3 pts) The radius of a circle is measured to be 3 m with
As it reaches the point (2,3), the y-coordinate is in- a possible error of 0.03 m. By using dlﬂerentlals what
creasing at a rate of 4 cm/s. At this instant, what is is the relatlve error in the area?
the rate at which the x-coordinate is changing?

3. (3pts) Find

Ed; (coth™'(sin z%)) .

Simplify your answer.
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Math 101, Section 32 Quiz 5 | P
Fall 2015, Term 151 Version A Serial Number; 9‘

Instructions: Show Your Work!

2. {3 pts) The radius of a circle is measured to be 3 m with

1. {4pts) A particle moves along the curve y = +/1 4 a3,
a possible error of 0.03 m. By using differentials, what

As it reaches the point (2,3), the y-coordinate is in-
creaging at a rate of 4 em/s. At this instant, what is is the relative error in the area?

the rate at which the x-coordinate is changing?
3. (3pts) Find

c_i% (coth”l (sina®)).

Simplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts} A particle moves along the curve y = /1 + 23,
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which theﬁf—-éoordinate is changing?
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Serial Number:

2. (3 pts) The radius of a circle is measured to be 3 m with

a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find

% (coth_l(sin .'1:2)) .

Simplify your answer.

*u«»@) &m
@ S 89
' ”%//Wi’: T Ty

- 3h P
S 2 T

2 _j ’J_\ 2’] Y
S 4__\~
ey Sy

“—‘ KVQO’\,“ 2V

@-\nw Ay R~ (DY {a. og‘)(vﬂ‘)
AN P YA

T ST e

40
VR “"K’-p-\r

2 %
D

PRI gy o

Aol
A\ 5

3)
Cobl =-Cret

s 5'\\0‘3 . -Cos¥X"
Cset W' (- L Y Y
; \(\ \(COS'Y 'ZX)_\G "S\V\X ”zx

—
—

=NG \'\»\X""Cgcﬁz’\/\ﬂ(‘}xfaf 38)



SO =)
W) =



Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 + z5.
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s At this instant, what is
the rate at which the ¥-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area? '

3. (3pts) Find
d “lyge 2
. {coth™'(sina?)) .

Simplify your answer.

|/

=
=) X /:.

M\

7
;yf;’,f(x/“fy/w

0% =
gm ){t?a

I

R S 2
g i Zl-*r")zn’

-/
3y'x

24 7
'27 5

L.,







Quiz 5 .

Math 101, Section 32
Version A

Fall 2015, Term 151.
Insffuctions_: Show Your Work!
1. {4 pts) A particle moves along the curve y = 1+ a3,
As it reaches the point (2,3), the y-coordinate is in-

creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?

2%%"

b 37 = 'SX"LY"

PiGad

8.5?'?5 =

A

3X

9t

/“j'_
I Y.
aree~ 97
(Q‘letl\ze, '7) )7

(efee o-07t ;
exe¥
\(Fl'l:'v(; % '06)

Student, [D: 2 ol#35 3o

Student Name: e b\m,ﬁ'&q L iM
7“

Serial Number: .

2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using dlﬂ'erentlals, what
is the relative error in the area?

G
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3. (3 pts) Find
d 1. 2
o (coth™ (sinz?)) .

Simplify your answer.
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Quiz b

Math 101, Section 32
Version A

Fall 2015, Term 151
Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = 1+ 3.
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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v
2. (3pts) The radius of a circle is measured to be 3 m with

a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find

= (coth™ (sin?)) .

Simplify your answer.
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Quiz b

Math 101, Section 32
Version A

Fall 2015, Term 151
Instruétions: Show Your Work!

1. {4pts) A particle moves along the curve y = /1 + 3.
As it reaches the point (2,3), the y-coordinate is in-
creaging at a rate of 4 em/s. At this instant, what is

" the rate at which the x-coordinate is changing?
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2. (3pts) The radius of a circle is measured to be 3 m with

a possible error of 0.03 m: By using differentials, what
is the relative error in the area?

3. (3 pts) Find

% (coth™' (sinz*)) .

Simplify your answer.
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Instructions: Show Your Work!

é?. (4 pts) A particle moves along the curve y = v1+a%. | 2. (3pts) The radius of a circle is measured to be 3 m with

As it reaches the point (2,3), the y-coordinate is in- a possible error of 0.03 m. By, using differentials, what
creasing at a rate of 4 cm/s. At this instant, what is is the relative error in the area? ' \ 3
the rate at which the x-coordinate is changing? B h
(33 (3pts) Find
d Y (--ZI]

T (coth™ (sinz?)} .

Sirﬁplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151

Instructions: Show Your Work!

As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 ecm/s. At this instant, what is
the rate at which the x-coordinate is changing?

1. (4pts) A particle moves along the curve y = v1 + 3.
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2. (3pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?
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3. (3 pts) Find
d 1 2
. (coth™*(sinz?)) .

Simplify your answer.
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Quiz b

Math 101, Section 32
Version A

Fall 2015, Term 151

Instructions: Show Your Work!
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1. (4pts} A particle moves along the curve y = +/1+ 23, | 2. (3pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what

is the relative error in the area?

As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 em/s. At this instant, what is
the rate at which the x-coordinate is changing?
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3. (3pts) Find

(% (coth™(sin 2*)) .

Simplify your answer.
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Math 101, Section 32
Fall 2015, Term 151

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = V1 +a®.
As it reaches the point (2,3), the y-coordinate is in-

Student ID: -Zog‘ \ 2o

Quiz 5 Student Name: O 3 pagadn
Version A
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible ervor of 0.03 m. By using differentials, what

creasing at a rate of 4 cni/s. At this instant, what is _is the relative grror in the area?

the rate at which the x-coordinate is changing?
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3. (3pts) Find
-(%: (coth™ (sin z)).
Simplify your answer,
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Math 101, Section 32 1 Quiz_ 5
Fall 2015, Term 151 ! Version A+

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = /1 -+ 23,
As it reaches the point (2,3), the y-coordinate is in-
creasing at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find
d 1y 2
- (coth™ (sinz?}).

Simplify your answer.
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Math 101, Section 32 Quiz 5 . Student Name: Fq e AT Mt
Version A - Serial Number: . A\ 9 '

Fall 2015, Term 151

Instructions: Show Your Work!

2. (3pts) The radius of a circle is measured to be 8 m with
a possible error of (.03 m. By using dlﬂerentlals, what
is the relative error i %ﬁe arca?

1. (4pts) A particle moves along the curve y = V1 + 3.
As it reaches the point (2,3), the y-coordiiiate is in-
creasing at a rate of 4 cm]é (At this instant, what is
the rate at which the x-coordinate is chemgmg'?

3. (3pts) Find

ac-i; (coth™!(sina?)) .

Simplify your answer.
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151

Instructions: Show Your Work!

1. (4pts) A particle moves along the curve y = v1+2%. | 2.

As it reaches the point (2,3), the y-coordinate is in-
creaging at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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(3 pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

7(r2

{3 pts) Find

d (coth™'(sin z%)) .

dx

Simplify your answer,
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Quiz 5

Math 101, Section 32
Version A

Fall 2015, Term 151

Instructions: Show Your Work!

1.

{4pts) A particle moves along the curve y = /1 + 29,
As it reaches the point (2,3), the y-coordinate is in-
creaging at a rate of 4 cm/s. At this instant, what is
the rate at which the x-coordinate is changing?
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2. (3pts) The radius of a circle is measured to be 3 m with
a possible error of 0.03 m. By using differentials, what
is the relative error in the area?

3. (3pts) Find

Ed; (coth_l(sin )

Simplify your answer.







